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12th Political Science Lesson 9 Questions in English 

9] India and the World 

 

1. Which of the following statement is correct? 

1) In the pre-independence era India’s foreign 

policy was the responsibility of the British Raj. 

2) After August 1947 from the British Raj, India 

had to deal with the outside world by herself 

and have to build her own foreign policy 

3) The Second World War ended in 1944 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

2. Assertion (A): The world was polarised into 

two military blocs and each bloc tried to 

overcome the other which was known as the 

Cold War. 

 Reason(R): World War I was the reason for the 

Cold war  

a) Both (A) and (R) are correct, but (R) does not 

explain (A)  

b) Both (A) and (R) are wrong 

c) Both (A) and (R) are correct and (R) explains 

(A)  

d) (A) is Correct and (R) is wrong 

3. Which of the following are the two 

superpowers involved in Cold war? 

1) USA 

2) Canada  

3) Soviet Union  

4) UK 

a) 1, 4 

b) 2, 4 

c) 1, 3 

d) 3, 4 

4. When was United Nations Organisation 

formed? 

a) July 13 1945 

b) October 24 1945 

c) September 21 1949 

d) October 24 1949 

5. Who among the following is the architect of 

India’s foreign policy? 

a) Sardar Vallabhaipatel  

b) Jawaharlal Nehru  

c) B. R. Ambedkar  

d) Rajendra Prasad  

6. Which of the following statement is correct? 

1) Pakistan was formed after the partition of the 

Indian sub-continent in 1947 

2) This event witnessed the largest 

transportation of refugees across the boundary 

in human history 

3) The Kashmir issue continues to be one of the 

fundamental aspects that drive India’s foreign 

policy causing three wars since 1947. 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

7. With which country India signed Panchsheel 

Treaty? 

a) Pakistan  

b) China  

c) Bhutan  

d) Myanmar  

8. Which of the following is not one of the 

Panchsheel Principles? 

a) Non-interference in each other’s internal 

affairs 

b) Peaceful Co-existence 

c) Help during war time  

d) Respecting each other’s territory and 

sovereignty 

9. When a war took place between India and 

China for border dispute? 

a) 1957 

b) 1962 

c) 1971 

d) 1969 
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10. When did Non-Aligned Movement take 

place? 

a) 1956 

b) 1961 

c) 1971 

d) 1966 

11. How many head of states attended Bandung 

Conference for creation of Non-Aligned 

Movement? 

a) 31 

b) 29 

c) 28 

d) 20 

12. Match the following founding father of NAM 

with their country. 

I. Gamal Abdel Nasser - 1. Indonesia 

II. Josip Broz Tito - 2. Egypt 

III. Kwame Nkrumah - 3. Yugoslavia 

IV. Ahmed Sukarno - 4. Ghana  

a) 2, 3, 4, 1 

b) 2, 1, 4, 3 

c) 2, 3, 1, 4 

d) 1, 4, 2, 3 

13. When did the Bangladesh war take place? 

a) 1991 

b) 1969 

c) 1971 

d) 1975 

14. Which of the following statement is 

incorrect? 

1) Nehru’s India envisioned the NAM as an 

alternative to the USA and the Soviet Union 

blocs for newly emerging independent countries 

2) India opens its doors to Foreign Direct 

Investments (FDI) and it was the beginning of 

improving relations with the USA 

3) The economic compulsion, caused by the fall 

of Soviet Union and the rise of Liberalisation, 

Privatisation and Globalisation – LPG forced 

India to move away from its largely socialistic 

economy to a market economy 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) None  

15. Assertion (A): With a growing economy, 

India has also become a regional power and 

hence it needs to be more responsible than ever 

before 

Reason(R): China has become one of the world 

powers which has a bearing in South Asia and 

our neighbourhood policy 

a) Both (A) and (R) are correct, but (R) does not 

explain (A)  

b) Both (A) and (R) are wrong 

c) Both (A) and (R) are correct and (R) explains 

(A)  

d) (A) is Correct and (R) is wrong 

16. In which of the following India is not a 

member? 

a) BRICS  

b) G7  

c) SCO 

d) MTCR 

17. When the first exchange of envoy between 

India and USA took place? 

a) 1945 

b) 1938 

c) 1940 

d) 1991 

18. What does UNCIP mean? 

a) United Nations Co-operation of India and 

Pakistan  

b) U.N. Commission for India and Pakistan 

c) U.N. Commission for India and Palestine  

d) U.N. Commission for Insurance and Policies 

19. Which of the following statement is correct 

about India and USA relation? 

1) Things did not improve with the formation of 

an American sponsored alliance system - SEATO 

(South East Asian Treaty Organization) and 

CENTO (Central Treaty Organization). 

2) Pakistan’s inclusion in the organisation and 

the resulting US- Pakistan military pact left little 
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hope for any improvement in the bilateral 

relations 

a) 1 alone  

b) 2 alone  

c) 1, 2 

d) None  

20. How many agreements were signed 

between India and USA for supply of agricultural 

commodities to India in 1954? 

a) 10 

b) 2 

c) 5 

d) 9 

21. Assertion (A): India became the largest 

democratic nation whose commitment to peace 

was undeterred by internal diversity or external 

factors. 

Reason(R): India’s demographic asset with IT 

(Information Technology) capabilities and 

English- speaking abilities was a thriving ground 

for feeding the global talent force for the age of 

the internet. 

a) Both (A) and (R) are correct, but (R) does not 

explain (A)  

b) Both (A) and (R) are wrong 

c) Both (A) and (R) are correct and (R) explains 

(A)  

d) (A) is Correct and (R) is wrong 

22. Which of the following statement is correct? 

1) The position taken by the US, not to back 

Pakistan during the Kargil war, for violating the 

LoC (Line of Control) was welcomed in India 

2) In 2010, Clinton’s visit to India was seen as 

the emergence of a new era in India-USA 

relations 

3) The relations further matured into co-

operation on defence, civil nuclear energy and 

enhanced people to people ties during the 

Obama administration 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

23. Match the following  

I. USA imposes economic sanctions for nuclear 

test - 1. 2001 

II. Obama Recognizes India as Major Defence 

Partner - 2. 2016 

III. Trump Ends India’s Special Trade Status - 3. 

2019 

IV. USA Lifts India Sanctions - 4. 1998 

a) 2, 1, 3, 4 

b) 2, 4, 3, 1 

c) 4, 2, 3, 1 

d) 4, 1, 3, 2 

24.  How many Civil Nuclear Agreement were 

signed between USA and India? 

a) 129 

b) 123 

c) 112 

d) 110 

25. When did senate house approve the civilian 

nuclear agreement allowing India to purchase 

nuclear fuel and technology from and sell them 

to the United States? 

a) October 9, 2010 

b) October 8, 2013 

c) December 1, 2008 

d) October 1, 2008 

26. Which of the following statement is correct? 

1) There is continuity in the India-USA ties 

under the new administration calling the 

partnership “two bookends of stability”. 

2) The USA attempts to undermine the 

traditional India-Iraq ties pose serious 

challenges for Indian foreign policy 

3) India is in pursuit of autonomy in foreign 

policy and is balancing the India-USA ties with 

that of other major partners  

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 
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27. Assertion (A): The relationship between the 

two countries has withstood several challenging 

geopolitical circumstances. 

Reason(R): Unlike the USA, Russia has 

historically understood and respected India’s 

Strategic autonomy 

a) Both (A) and (R) are correct, but (R) does not 

explain (A)  

b) Both (A) and (R) are wrong 

c) Both (A) and (R) are correct and (R) explains 

(A)  

d) (A) is Correct and (R) is wrong 

28. Which of the following statement is correct? 

1) Initially, when India became free, the Soviet 

Union (USSR) under the leadership of Vladimir 

Putin 

2) India-Soviet bonhomie started with the Indian 

Prime Minister Jawaharlal Nehru’s visit to the 

USSR in June 1955 

3) Soviet Premier Nikita Khrushchev’s visit to 

India in December 1955. 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

29.  When was India-Soviet Treaty of Peace 

signed? 

a) 1991 

b) 1971 

c) 1951 

d) 1989 

30. Which war made a trusted partnership 

between India and the USSR? 

a) Indo- China war 

b) Indo- Pakistan war for liberation of 

Bangladesh  

c) Indo- Pakistan war for Kashmir  

d) Kargil war  

31. Assertion (A): The Treaty of 1971 between 

India and USSR became ineffective 

Reason(R): With the fall of the USSR in 1991, 

bilateral relations between Russia and India 

went through a period of uncertainty. 

a) Both (A) and (R) are correct, but (R) does not 

explain (A)  

b) Both (A) and (R) are wrong 

c) Both (A) and (R) are correct and (R) explains 

(A)  

d) (A) is Correct and (R) is wrong 

32. Which Russian president signed a new 

Treaty of Friendship with India in 1993? 

a) Joseph Stalin  

b) Boris -Yeltsin  

c) Boris- Johnson  

d) Vladimir Putin 

33. Which of the following statement is correct? 

1) India and Russia have formally inked the $ 

5.2 billion deal for S-400 system in the year 

2018. 

2) The air defence system is expected to be 

delivered by the year 2020 

3) 400 Triumf is an advanced surfaceto-air 

missile system, developed by Russia’s state-

owned company Almaz-Antey, and can shoot 

down hostile aircraft and ballistic missiles 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

34. Which of the following statement is 

incorrect? 

1) The new Russian leadership under Vladimir 

Putin (President, 2000–present) reversed the 

Yeltsin-era drift in India- Russia bilateral 

relations 

2) Russia signed the Declaration on Strategic 

Partnership with India in 2000 and established 

the institution of annual summit meetings 

3) Its declaration was further elevated to the 

level of “Special and Privileged Strategic 

Partnership” in 2010. 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) None  
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35. Who among the following is the largest 

importer of Russian defence equipment? 

a) Ukraine  

b) India  

c) China  

d) Pakistan 

36. Which of the following statement is correct? 

1) Russia supports India’s permanent 

membership of the United Nations Security 

Council 

2) Russia has remained a strong supporter of 

India in the Kashmir issue which is of India’s 

core interest 

3) The two countries share common ground on 

critical global challenges such as terrorism, 

cybersecurity, climate change, preventing the 

weaponisation of outer space and prevention of 

weapons of mass destruction. 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

37. Which of the following statement is correct? 

1) The period of colonialism ushered in a time of 

intense contact between India and Europe. 

2) Even people belonging to noncolonial 

European nations came to India to “work among 

the masses” or to study Indian culture, and their 

contributions to social development, education 

and healthcare in India are significant 

3) One of the things that permeated the Indian 

ethos was a sense of nationhood, which soon, 

by the early 20th century, led to an 

overwhelming desire and movement for 

independence. 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

38. When did Vasco da Gama succeed in finding 

a sea route to India? 

a) 1488 

b) 1498 

c) 1489 

d) 1479 

39. Which of the following statement is correct? 

1) After months of negotiation, the UK and EU 

agreed a Brexit deal at Paris summit. 

2) Brexit is the withdrawal of the United 

Kingdom (UK) from the European Union (EU), 

following a referendum held on 23 June 2016 in 

which 51.9 per cent of those voting supported 

leaving the EU 

3) On 21 March 2019 the European Council 

agreed to the UK’s request to extend the 

deadline and extended it to 12 April 2019. 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

40. When did India -EU Cooperation Agreement 

was signed? 

a) 1991 

b) 1996 

c) 1994 

d) 1997 

41. In Bilateral trade whose is the India’s largest 

trading partner in 2018-19? 

a) China 

b) USA 

c) EU 

d) Canada  

42. In which of the following fields EU and India 

have some common interests? 

1) Preventing climate change  

2) Maintenance of the Iran nuclear deal  

3) Increased cooperation in education and 

technology 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

43. In which century Buddhism reached Japan? 

a) 3rd century  

b) 6th century  



 11th 12th Political Science                            Winmeen Test Sheets 
 

Line By Line Questions                                                                                                                     6    

 

c) 2nd century  

d) 1st century 

44. Who among the following is one of the 

Japanese scholars visited Nalanda University? 

a) Fahein  

b) Fakrim  

c) Tenjiku Tokubei 

d) Abu Bakar  

45. In Pre- Indian Independence when was 

Japan- India Association setup? 

a) 1909 

b) 1901 

c) 1903 

d) 1915 

46. When did India Signed Peace Treaty with 

India? 

a) 1992 

b) 1952 

c) 1961 

d) 1954 

47. Which of the following statement is correct? 

1) The relations between the India and Japan 

suffered a setback during the cold war years, as 

Japan aligned with the United States while India 

chose to adhere to Non-alignment policy 

2) The relations were hampered when Japan 

took a neutral stand during the Sino-Indian 

border war of 1998 

3) Japan regarded nuclear tests by India as a 

threat to its Non-Proliferation objective. 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

48. When did Japanese Prime Minister Yoshiro 

Mori visit India? 

a) 2001 

b) 2000 

c) 2003 

d) 1998 

49. Which of the following statement is correct? 

1) Sony, Yamaha, Honda and Toyota have 

become household names in India, with the 

setting up of their manufacturing facilities in the 

country. 

2) Suzuki’s partnership with the Indian 

automobile company - Maruti Suzuki is one of 

the largest car manufacturers 

3) Japan’s support for India’s efforts in economic 

development 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

50. Which Indian Prime minister decided the 

establishment of “Global Partnership between 

Japan and India? 

a) Jawaharlal Nehru  

b) Rajiv Gandhi 

c) Indira Gandhi  

d) Atal Bihari Vajpayee 

51. With which Indian Prime Minister Visit to 

Japan Japan-India relationship was elevated to 

the “Global and Strategic Partnership”? 

a) Jawaharlal Nehru  

b) Manmohan Singh  

c) Indira Gandhi  

d) Atal Bihari Vajpayee 

52. When did Japan sign the Declaration on 

Security Cooperation with India? 

a) 2000 

b) 2004 

c) 2008 

d) 2010 

53. With which of the following countries India 

has security relationship? 

1) USA  

2) Japan 

3) UK 

4) Australia 

a) 1, 3, 4 

b) 1, 2, 4 

c) 2, 3, 4 
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d) All the above  

54. Which Indian Prime minister announced 

“Japan and India Vision 2025 Special Strategic 

and Global Partnership Working Together for 

Peace and Prosperity of the Indo-Pacific Region 

and the World”? 

a) Narendra Modi 

b) Manmohan Singh  

c) Indira Gandhi  

d) Atal Bihari Vajpayee 

55. Which of the following statement is correct? 

1) In November 2016, Prime Minister Modi paid 

an official visit to Japan and had a summit 

meeting with Prime Minister Abe 

2) India established the “Japan Plus” office in 

the Ministry of Commerce and Industry in 

October 2014 as a “one-stop” location for 

resolving problems faced by Japanese 

companies 

3) Japan and India agreed to set up 11 

candidates of Japanese industrial townships 

around DMIC and CBIC areas in April 2015. 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

56. When the India’s Shinkansen system will 

start its operation? 

a) 2020 

b) 2023 

c) 2025 

d) 2022 

57. Which of the following is one of the most 

successful examples of Japanese cooperation? 

a) Northern railways  

b) Delhi Metro 

c) Delhi Mono 

d) Southern Railways  

58. Which of the following are primary exports 

to Japan by India? 

1) Petroleum products  

2) Chemicals 

3) Fish and fish preparations 

4) Iron and Steel  

a) 1, 3, 4 

b) 1, 2, 3 

c) 2, 3, 4 

d) All the above 

59. How Indians are to be trained under Japan-

India Institute for Manufacturing? 

a) 10000 

b) 25000 

c) 30000 

d) 27000 

60. In which of the following state 1st JEC was 

established? 

a) Tamil Nadu  

b) Andhra Pradesh  

c) Kerala  

d) Maharashtra 

61. Which year marked the 60th anniversary of 

the establishment of diplomatic relations 

between Japan and India? 

a) 2008 

b) 2013 

c) 2012 

d) 2011 

62. Which year was marked as Year of Japan-

India Friendly Exchanges? 

a) 2012 

b) 2011 

c) 2016 

d) 2017 

63. Which of the following statement is correct? 

1) Asia and Africa are home to some of the most 

ancient civilizations in the world. 

2) Trade included items such as carved beads, 

cotton, and terracotta for soft carved ivory and 

gold 

3) The earliest known exchanges are that of 

food crops and domestic livestock which date 

back to the Fifth millennium BCE. 

a) 1, 2 

b) 1, 3 
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c) 2, 3 

d) All the above 

64. Which of the following guidebook to trade to 

India along the Red Sea? 

a) Periplus of Erythrean Sea 

b) Pliny the Elder’s Natural History 

c) Roman Map Peutingerian Table 

d) Vienna Papyrus 

65. Which of the following statement is correct? 

1) It is notable however those most African 

countries were very intent on seceding from the 

influence of Europe 

2) Ever since India declared independence, it 

had raised its voice for African liberation 

3) The end of racial struggle and decolonization 

became the rallying point of India–Africa 

relations. 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

66. Which of the following countries played a 

key role in NAM? 

1) Egypt 

2) Ghana  

3) Indonesia  

4) Yugoslavia 

a) 1, 2, 4 

b) 1, 3, 4 

c) 2, 3, 4 

d) All the above 

67. Who among the following declared that 

Africa shall always be the first to fight racial 

discrimination and maintain the principles of 

Non-Alignment? 

a) Jawaharlal Nehru  

b) Mahatma Gandhi  

c) Dr Nkrumah 

d) Nelson Mandela  

68. Which of the following is the largest Indian 

city outside India? 

a) Port Nova 

b) Rome  

c) Durban  

d) New York 

69. What does the term Diaspora mean? 

a) Ethnic background establishing a community 

far away from their native lands 

b) Working labour force 

c) Pensioners  

d) None 

70. Which of the following statement is correct? 

1) Asia-Africa Growth Corridor (AAGC) is an 

India-Japan economic cooperation agreement 

aimed at the socio-economic development of 

Asia and Africa 

2) The vision document for AAGC was released 

by India in the 2014 African Development Bank 

meeting. 

3) The aim of the AAGC is to develop 

infrastructure and digital connectivity in Africa 

through India-Japan collaboration 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

71. Which of the following countries relationship 

with India is “Out of sight; Out of Mind”? 

a) African Nations  

b) USA 

c) Latin America and Caribbean 

d) Japan  

72. Assertion (A): One could hence draw 

similarities in some cultural practices between 

India and the Latin America and Caribbean 

region 

Reason(R): Societies in Latin America and 

Caribbean also have an ancient and rich 

civilizational value like India and other parts of 

Asia and Africa. 

a) Both (A) and (R) are correct, but (R) does not 

explain (A)  

b) Both (A) and (R) are wrong 

c) Both (A) and (R) are correct and (R) explains 

(A)  
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d) (A) is Correct and (R) is wrong 

73. Which of the following is not a part of South 

America? 

a) Mexico 

b) Bolivia  

c) Belgium  

d) Mexico 

74. Which of the following are Caribbean 

countries? 

1) St. Lucia 

2) Trinidad 

3) Grenada  

4) Jamica 

a) 1, 2, 3 

b) 1, 3, 4 

c) 2, 3, 4 

d) All the above 

75. When Indira Gandhi visited 8 Latin American 

and Caribbean nations? 

a) 1961 

b) 1968 

c) 1965 

d) 1963 

76. When BRICS was formed? 

a) 1991 

b) 1999 

c) 2006 

d) 2004 

77. Which year’s BRICS summit enabled the 

Indian Prime Minister to hold meetings with 

other Latin America and Caribbean leaders on 

the side-lines? 

a) 2019 

b) 2014 

c) 2012 

d) 2011 

78. When and where was SAARAC established? 

a) 1985, New Delhi 

b) 1985, Dhaka  

c) 1995, Kathmandu 

d) 1990, Peshawar 

79. Which of the following is not a SAARAC 

Nation? 

a) Afghanistan 

b) Maldives  

c) Myanmar  

d) Nepal  

80. Where does the Secretariat of the SAARAC 

Association located? 

a) Lahore 

b) Dhaka  

c) New Delhi 

d) Kathmandu  

81. Which of the following is not an objective of 

the SAARAC Association? 

a) To promote the welfare of the peoples of 

South Asia and to improve their quality of life 

b) To promote and strengthen collective self-

reliance among the countries of South Asia 

c) To promote nuclear test in South Asia to 

make it a world super power  

d) To cooperate with international and regional 

organizations with similar aims and purposes 

82. Which of the following countries are parts of 

QUAD? 

1) Japan  

2) USA 

3) China 

4) Australia  

a) 1, 2, 4 

b) 1, 2, 3 

c) 2, 3, 4 

d) All the above 

83. How many times a year does SAARAC 

nations meet? 

a) Once  

b) Twice 

c) Thrice  

d) Four times  

84. Until now how SAARAC summits held? 

a) 10 

b) 25 

c) 18 
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d) 15 

85. When was ASEAN established? 

a) 8th August 1997 

b) 9th September 1987 

c) 8th August 1967 

d) 14th July 1987 

86. Match the following 

I. Vietnam - 1. 30 April 1999 

II. Brunei Darussalam - 2. 23 July 1997 

III. Myanmar - 3. 7 January 1984 

IV. Cambodia - 4. 28 July 1995 

a) 3, 1, 4, 2 

b) 4, 1, 2, 3 

c) 4, 3, 2, 1 

d) 2, 1, 4, 3 

87. Which of the following statement is correct? 

1) Asia Reassurance Initiative Act aims to 

establish a multifaceted USA strategy to increase 

USA security, economic interests, and values in 

the Indo-Pacific region 

2) ARIA recognizes the vital role of the strategic 

partnership between the USA and India in 

promoting peace and security in the Indo-Pacific 

region and it calls for strengthening diplomatic, 

economic, and security ties between both the 

countries. 

3) USA launched Indo-Pacific Business Forum as 

an economic pillar for country’s Indo-Pacific 

Strategy 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

88. Which of the following statement is correct? 

1) India’s new growth story in the ’90s made 

India take interests on its new initiative “Look 

East policy” and began reviving its economic 

relations with South-East Asia 

2) The Prime Minister of India at the 15th 

ASEAN India Summit and the 9th East Asia 

Summit held in Nay Pyi Taw, Myanmar, in 

November 2014, formally enunciated the Act 

East Policy. 

3) India’s relationship with ASEAN is one of the 

key pillars of India’s foreign policy and the 

foundation of Act East Policy 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

89. Which of the following are important 

initiatives of India – ASEAN relations? 

1) Political-Security Cooperation  

2) Economic Cooperation  

3) Socio-Cultural Cooperation 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

90. Which of the following is acronym for 

BRICS? 

a) Brazil, Russia, India, China and South Africa 

b) Bangladesh, Russia, India, China and South 

Africa 

c) Brazil, Russia, India, Combodia and South 

Africa 

d) Britain, Russia, India, China and South Africa 

91. Who predicted that by the year 2050, Brazil, 

Russia, India and China would become bigger 

than the six most industrialized nations in dollar 

terms? 

a) Narendra Modi  

b) Jim O’Neill 

c) Xi Jim ping  

d) Barack Obama  

92. When New Development Bank (NDB) came 

into existance? 

a) 2011 

b) 2015 

c) 2013 

d) 2001 

93. Which of the following statement is correct? 

1) Diaspora refers to the movement of the 

population from its original homeland meaning a 



 11th 12th Political Science                            Winmeen Test Sheets 
 

Line By Line Questions                                                                                                                     11    

 

country’s native people move out to some other 

homeland or country 

2) Feeling of persecution, loss and yearning to 

go back home is common amongst the people of 

the forced diaspora. 

3) Voluntary diaspora consists of a community of 

people who have left their homelands in order to 

search for better economic opportunities 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

94. What are main reasons for Diaspora? 

1) Economy  

2) Livelihood  

3) Political situations 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

95. What is the presently estimated Indian 

diaspora? 

a) 10 million  

b) 25 million  

c) 30 million 

d) 45 million  

96. What percent of Indian diaspora are Indian-

Americans living in the US? 

a) 20 

b) 10 

c) 33 

d) 50 

97. Match the following  

I. NRI - 1. Overseas Indians who claimed the 

citizenship of another country 

II. PIO - 2. Citizens who doesn’t have document 

to substantiate their origin as Indian 

III. SPIO - 3. Indian citizens living abroad for an 

indefinite period of time 

a) 3, 1, 2 

b) 2, 3, 1 

c) 1, 3, 2 

d) 3, 2, 1 

98. Which of the following statement is correct? 

1) In the period after India became free, Prime 

Minister Jawaharlal Nehru pursued a policy of 

“active dissociation” from the Indian diaspora 

2) It was under the regime of Rajiv Gandhi that 

there was a boost in the diaspora policy. 

3) He offered support at Fiji Indian crisis in 

1976. 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

99. When was Pravasi Bharatiya Divas launched? 

a) 2009 

b) 2003 

c) 2015 

d) 2009 

100. Pravasi Bharatiya Divas is celebrated 

on_________ 

a) January 14 

b) January 9 

c) February 12 

d) January 24 

101. Which of the following statement is 

correct? 

1) The Tamil Diaspora refers to the people who 

emigrated from their native lands in Tamil Nadu, 

Puducherry and Sri Lanka. 

2) Throughout ancient history, the Tamils have 

been seafarers with a strong interest in 

exploring beyond their lands. 

3) It is these emigrants who gradually became 

dominant in trade and finance in South East 

Asia, particularly in Myanmar, Singapore, 

Malaysia and South Africa 

a) 1, 2 

b) 1, 3 

c) 2, 3 

d) All the above 

102. In which of the following countries Tamil is 

recognized as Minority Language? 
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1) Canada 

2) Sri Lanka 

3) Mauritius 

4) France 

a) 1, 3, 4 

b) 2, 3, 4 

c) 1, 2, 3 

d) All the above 

103. Which country has a dedicated Tamil 

newspaper, Tamil TV channel and radio for the 

promotion of the language? 

a) Thailand 

b) Singapore 

c) Myanmar  

d) Nepal 

 

 

 


